Question (1)
Directions (1 — 3) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

f&ar(1-3): oot T wea  Rw arw Ryreul 3 @ wrafewa snaw/asg/aEar # gfav |
Radio : Marconi : : Calculator : ?
WA ARSI ol

(A) Galileo/3teliferar

(B) Pascal/dTEhel

(C) Fleming/FeifHaT

(D) Rutherford/eI®is

Correct Option : B

Explanation :
Radio was invented by Marconi and Calculator was invented by Pascal.

Question (2)

42:32::52:7
(A)43 (B) 50
(C) 62 (D) 48

Correct Option : B

Explanation :
42x 2 =32

52x 2 =50

Question (3)

RAT : CUP ::SUN:?
(A) VRQ  (B) VOQ



(C)WOQ (D) VPQ

Correct Option : C

Explanation :

As,

RAT cCup
2 1t T
+1

2

Similarly,

SUN wo
2 1 T
+1

2

Question (4)
Directions (4 - 6) : Find the odd word/letters/ number pair/number from the given alternatives.
fder(4-6): R arv fasredt 7 & fwer srerv/erse/meangss #t gfav |

(A)225 (B) 625
(C)64 (D) 144

Correct Option : C

Explanation :
Only 64 is the number whose square root and cube root can be found.

Question (5)

(A)DW (B) HS
(C)LO (D)GU

Correct Option : D
Explanation :



Question (6)

(A) January
(B) Road
(C) Sky

(D) Monday

Correct Option : C

Explanation :
Only, Sky is the word without vowels.

Question (7)

Arrange the words given below in a meaningful sequence.
T ersel o Teh A1 vl A IfAUT |

1. Puberty/atas

2. Adulthood/a@a&hdr

3. Childhood/ sa9eT

4. Infancy/rera

5. Senescence/gerdr

6. Adolescence/fereiRTae2m
(A)2,4,6,3,1,5
(B)4,3,1,6,2,5
(©4,3,6,2,1,5



(D)5,6,2,3,4,1

Correct Option : B

Question (8)

Directions (8): Two statement is given followed by four conclusions |, II, lll and IV. You have
to consider the statement to be true, even if they seem to be at variance from commonly
known facts. You have to decide which of the given conclusions, if any, follow from the given
statements.

fa&er (8): Y T Ru v ¥, oS 3mr IR fsw 111,111 4T IV B 39! FU«AT F! TcF AGFT @OR
FIAT§ , I8 I§ AT : AT a2t § A glia g1 & |3mue! Avig s g A R aw Fesid @
Flar-a1 Afvad ¥ ¥ e 70 Fyei @R 7 Pweary IR FS |

Statements/&yd:

Some pens are books./HS FHeH fhdIa ¥ |
Some books are pencils./He el TRl § |
Conclusions/fasay:

|.Some pens are pencils./ F& FHold AT ¢ |

II. 11. Some pencils are pens./ F& Y& HeTHA & |
1. 111. All pencils are pens./ T 9f&e FeraT £ |
IV. IV. All books are pens./&3i fordTe ole &
(A) Only | and Ill/&aer | 3T 111

(B) Only Il and IV/a&ael Il 3R IV

(C) All the four/a#T TX

(D) None of the four/aRT # & I 7Tg1

Correct Option : D

Question (9)



Which of the following diagrams indicates
the best relation between Hospital, Doctor
and Patient ?

= 8 9 -1 A S, SiEe 99 5 5
dre Hay i w27

@ .
©) @ (D) @ O

Correct Option : C

Explanation :
Hospital consists of Doctor and Patient, but doctor and patient are two different entity.

Question (10)

The total of the ages of satyam,shivam and sundram is 80 years. What will the sum of their ages
three years hence?

oI, TRAGH AT el & 3 T 1T 80 a¥ & |3 T TR Seleh el 31T T 19T AT I 2
(A) 71 years/a¥  (B) 72 years/ay

(C) 89 years/@¥ (D) 77 years/ay

Correct Option : C

Explanation :
Required Age =80 + (3 x 3) =89

Question (11)

Introducing Sonia, Aamir says, "She is the wife of only nephew of only brother of my mother." How
Sonia is related to Aamir?

AT HT TRET A G M FgclT 8,8 A Shelle HIg b Shell #T7e I el & AT, AR &
fra geR Fefa & ?



(A) Wife/Tceir
(B) Sister/dgst
(C) Sister-in-law/slec

(D) Data is inadequate/3TeT 39T

Correct Option : A

Explanation :
Brother of mother means maternal uncle. Hence, only nephew of Aamir's maternal uncle means
Aamir himself. Therefore, Sonia is the wife of Aamir.

Question (12)
Pihu started walking from her house towards west. After walking a distance of 25 m, she turned right

and walked 10 m. She then again turned right and walked 15 m. After this she turns her right at 135°
and walked 30 m. In which direction is she going?

g 379 &R & aiREe T & wefalr YR foham |25, &1 gl o 9t o dTe;, a8 & HST 2T 10 T, =rell
| a8 T & 1T 73T T 15 #Y. <ot | 38k YT 3191 &1V 135° W) AT | I Tt faem # 5 @ 82

(A) West/afRa#

(B) South/gfeoT

(C) South-West/ &faTor- qiggs
(D) South-East/ &f&Tor-qd

Correct Option : C

Explanation :
C I5m  p
135°
10m |
B 25m A

Hence, she is going in the South-West
direction.



Question (13)

Two positions of dice are shown below. How
many points will appear on the opposite to
the face containing 5 points?

i R = = foafeE 1 @i T S g e e

% fawia fead fag M

aee

<IL% rﬁg

™ L
(A) (B) 1
(C) 2 (D) 4

Correct Option : C

Explanation :

In these two positions one of the common face having 1 point is in the same position. There will be
2 points opposite to the face containing 5 points.

Question (14)

Direction (14-16) : In guestion no 14 te 16,
select the missing number from the give

TEeSpONses.
T (14-16) : v d=W 149 16 ¥, fau 7o famweat
4§ faea wen g

(A) 176 (B) 285

(C) 315 (D) 289

Correct Option : C

Explanation :
(12+5)(12-5)=17 x7 =119

(9+6)(9-6)=15x3=45
(18 + 3) (18 — 3) = 21 x 15 = 315



Question (15)

2 | 8 7
3| 2113
4 | 7 [18(5
216 | 225 | 27 | ?
(A) 1331 (B) 1728
(C) 1024 (D) 256

Correct Option : B

Explanation :
(2+4)p=62=216

(8 + 7)2 = 152 = 225
(18 + Q) = 27 = 27
(7 +5)=12:= 1728

Question (16)

G &

12 & 1

48 16 27 36 24 30

(A) S0 (B] 70
(C) 60 (D) 20

Correct Option : C

Explanation :
4 x 10 = 40=HCF (12, 48, 16) = 4

3 x 10 = 30=HCF (24, 27, 36) = 3
6 x 10 = 60 =HCF (18, 24, 30) = 6



Question (17)

Count the number of squares in the given

figure.

fau my afa F = #1 HEm 9 w0
A) 32 B) 30

(C) 29 (D) 28

Correct Option : B

Explanation :
The number of squares in the given figure = (12 + 22 + 32 + 4?) = 30

Question (18)

When the following figure is folded to form a
cube, how many dots will lie opposite the
face bearing five dots?

1= sm=fa &1 w4 =9 % w9 d i W, 9 9=

=0 9% 98 + famie e =i =6
(A) 1 B) 2
c) 3 (D) 4

Correct Option : C

Explanation :
There will be 3 dots opposite to 5 dots.



Question (19)

Directions (19-20) : In the following questions, a series is given with one terms missing.
Choose the correct alternative from the given ones that will complete the series:

fr&er(19-20). Prafaf@a weat &, v sregsar o o 1\ e v ug o B v et A d 9
eI fahed AT S AT A F U |

2,3,6,36,

(A) 432

(B) 214

(C) 1296

(D) 648

Correct Option : C

Explanation :
2 3 & 36 1296

[2=3)* 2e3=G] [2=3ah =3

Question (20)

3,12,29,54, 128
(A) 76

(B) 92

(C) 87

(D) 111

Correct Option : C
Explanation :

1°+2 3+3 5+4 7+5 9+6 11°+7

Yooy oy 8

3 12 29 24 BT 128




Question (21)

A piece of paper is folded and cut as shown
below in the gquestion figures. From the
given answer figures, indicate how it will
appear when opened?

9= v A 8 fTEE @ EE Fe F gEe
FH A FeH % =%, 98 FE 39 A 9
=m?

Question figures /Uy =il :

ool

iy
o jals) o
oo o [als] o
=Y 9 & F:) Fay Fay [a [=

(B) (€) (D)

Correct Option : C

Question (22)

If a mirror is placed on the line MN, then
which of the answer fisures will be the right
image of the question figure?

Afe =1 F1 @ MN W T@1 =, 6 390 st 5
4 %, 799 Al 1 T Waiaa gm?

M
NuS56p7uR}
N

[A) VuEagiud
(B] fAnVgadink
(C) AovgadoM
D) suvd9gum

Correct Option : C



Question (23)

Identify the figure that will complete the

attern.
‘Erq AT F TEEH ST W FO
Question figure /Wy HTEF:
?
Answer figures /377 ATSFimal:
(A) B (C) (D)

Correct Option : C

Question (24)

If FRIEND = 56%, LOVE = 54% then ATTITUDE = ? ;
If& FRIEND = 56%, LOVE = 54% @ ATTITUDE = ?
(A) 83% (B) 100%
(C)92% (D) 59%

Correct Option : B
Explanation :

FRIENTD L OVE
6 189 5 14 4 1215@225

SUm

¥ *
56% 54%
MARRETIAGE
13 llEl;SumS‘ 175
T2%
ATTIT UDE
12020 9“2:_(? 214 5
—*-



Question (25)

From the given answer figures, select the
one in which the guestion figure is
embedded.

% M I S § °, 3W Ea w9 faed
e A A= B
Question figures/WyT TeaAl :

B

Answer figures /377 a-l'l'!’»‘ﬁ'l'!ﬁ :

|

(A) (B) ©) D)

Correct Option : B

Question (26)

Two stones of unequal masses are thrown vertically up with the same velocity. Which of the
following will happen?

AT GeI AT dTel &I Ic2R ATHTA 39T T FHATER 3W ek 0 § | [AeaAfaf@a 7 & & gfed grem 2

(A) The heavier mass will reach greater height/$TRY geITeT aTelT 31 FATS deh ST

(B) The lighter mass will reach greater height/geehT geI#TT arelr 318 TS deh ST
(C) Both will reach the same height/gl=il sSRIER F4TS deh ST

(D) Any of them may reach greater height/3s78 & &g 81 318 FaTs$ I ST ThaT &

Correct Option : C

Question (27)

Who has become the first Indian to be elected the President of the International Hockey Federation



(FIH)?
TR Uger HIRAIT hl 3TRTSEIT glehT HGRAY o7 37787 faTiad fhw arw 2
(A) Narinder Batra/aTReY 3T

(B) Dhanraj Pillay/&TeRTsT feer

(C) K D Singh/ss 3t &g

(D) Kirtan Singh/&eT f&g

Correct Option : A

Explanation :

Narinder Batra has become the first Indian to be elected the President of the International Hockey

Federation (FIH). He succeeds Spaniard Leandro Negre, who has been the FIH chief since 2008.

Batra, who is the president of Hockey India, has become the 12th FIH President and the first Asian
to grab the post.

Question (28)

Wax used for making candle is chemically a mixture of

FH Fllel o Tl GgereT AT A e TS & Teh AT & -
(A) Aliphatic hydrocarbons/¥eiithfeesh grsglhaal st

(B) Aromatic hydrocarbons/ T e grSgiehas

(C) Cyclic hydrocarbons/ ATs{&eieh gTSgIhasl &bl
(D) Aliphatic and aromatic hydrocarbons/ ¥eiithfes 31k waAfes gsgiarasi 1

Correct Option : A

Question (29)

Aspirin is chemically known as ,

TR &1 Tarafeie AT § —
(A) Methyl salicylate/fFemser fafiere



(B) Hydroxysalicylate/ggsdT Efafee
(C) Acetylsalicylic acid/tfafeer dfafdee vfas
(D) Alkylsalicylic acid/uforsrer &fafdee tfas

Correct Option : C

Question (30)

Which of the following pairs are correctly

matched?

feforfen § § w9-8 79 98 @0 & T @ 8

1. Idukkif :  Thermal power station,/
T=F wie TE E=EE

2. Sabarigirif : Hydro-electric project/
T =l Tagm aftErsn

3. Ghataprabha/: Irrigation project/
TR o wfEem

4. Ramganga/ : Multipurpose project/
T EEELR R ER)

(A] 2,3 and4/2, 334

(B) 1,2,3and4/1,2, 3314
(C) 3 and 4/3 34

(D) 1and?2/1 32

Correct Option : A

Explanation :

Idukki is a hydro-electric project of Kerala. So, the '1' option is not correct. The Idukki Dam is a
double curvature arch dam constructed across the Periyar River in a narrow gorge between two
granite hills Kuravan and Kurathi in Kerala, India. At 167.68 metres, it is one of the highest arch
dams in Asia. It was constructed and is owned by the Kerala State Electricity Board. It supports a
780 MW hydroelectric power station in Moolamattom, which started generating power on 4 October
1975.

Question (31)

About 50% of the world population is concentrated between the latitudes of:



il <Y 3T T STSTIT 50% foea fohar 37aTme & ofrer hfeer & 2
(A) 5°N and 20° N/5°N 3R 20° N

(B) 20°N and 40°N/20°N 31X 40°N

(C) 40°N and 60°N/40°N 3iR 60°N

(D) 20°S and 40°S/20°S3iX 40°S

Correct Option : B

Explanation :
About 50% of the world population is concentrated between latitude of 20°N and 40°N, because
most populous countries like Asia, U.S.A, Europe lie within this latitude.

Question (32)

In the given map, which one of the following
pairs of ocean currents are shown?

fau T gEfs § fretataa § 9 FE-m g9 9
O w1 i €7

ﬂ‘l
-, " w

T
Ta
A

(A) Benguela and Falkland /37T0s 3% $ieeis
(B) Canary and Humbaoldt /&1 31 grmiesz
(C) Agulhas and Guinea,/sFeE #in
(D) Benguela and Guinea,/970d s fir

Correct Option : D

Explanation :
Benguela is a cold current flows from south to north along the west coast of Africa. Guinea current is
a warm current flowing east of Guinea along the west coast of Africa.



Question (33)

Which one of the following Articles of the Indian Constitution provides that ‘It shall be the duty of the
Union to protect every State against external aggression and internal disturbance'?

HRCT HTenTeT oh1 9o 7 & ahleT AT 31Tede YaTel il ¢ 3l ‘TgLr 3MehAvT 3R 3MTcifen 3rerifer v e
# §Y o T G&TT FaAT T T Fcled 6 |

(A) Article 215/31]ed 215
(B) Article 275 3ieJed 275
(C) Avrticle 325/3e<8% 325
(D) Article 355/37<se 355

Correct Option : D

Explanation :

According Article 355, it shall be the duty of the Union to protect every State against external
aggression and internal disturbance and to ensure that the government of every State is carried on
in accordance with the provisions of this Constitution.

Question (34)

Which is the focus country in the 2016 India International Trade Fair (IITF)?
ST RIS AR AT (IITF) 2016 # fohd 327 W &A1 Shald fonaT § 2
(A) South Korea/gT&IoT shITaT

(B) Belarus/Selred

(C) Japan/sTaTeT

(D) Thailand/2mSels

Correct Option : B

Explanation :

The 36th edition of India International Trade Fair (IITF) will be held at Pragati Maidan, New Delhi on
14th November, 2016 and will continue till November 18th, 2016. The fair will be inaugurated by the
President of India Pranab Mukherjee with the theme of "Digital India". This year's partner country
and states are South Korea and Madhya Pradesh and Jharkhand respectively. The focus country
and state are Belarus and Haryana respectively.



Question (35)

The Narasimham Committee for financial sector Reforms has suggested reduction in:
e &1 & ger & forw Ri@eg=r afAfa A fhd e it o1 gerra feam o 2

(A) SLR and CRR/SLR 3R CRR

(B) SLR, CRR and Priority Sector Financing/ SLR, CRR 3iX yrafais &7 & fadiaa

(C) SLR and Financing to capital goods sector/SLR 3R Gsflare a&3it &1 & forw faefiae

(D) CRR, Priority Sector Financing and Financing to capital goods sector/CRP, T &9 &
Tt 3R JofoTa aeq3it &7 o fore faciarr

Correct Option : B

Explanation :

Narasimham Committee for Financial Sector Reforms (1991) has suggested reduction in SLR, CRR
and priority sector financing reducing it from 40% to 10%. Most of the suggestions of the committee
were not implemented.

Question (36)

The protein part of an enzyme is termed as

Ueh fohuden & eI HTIT T FIAT hgd ¢ ?

(A) Holoenzyme/gIelIuasH

(B) Ribosome/RTSaISire
(C) Prosthetic group/H3# deg

(D) Apoenzyme/TdITSITSH

Correct Option : D



Question (37)

Mongols under Chengiz Khan invaded India during the reign of :

HIl & sicjed H TS We o fohdl o ATHeThTSl & GRTeT AR H JThACT fehar T2
(A) Balban/defdeT

(B) Firoz Shah Tughlag/fhIsiiTg Jarersh

(C) Iitutmish/geddfasr

(D) Muhammad Bin Tughlag/HgF#¢ faeT Jarersh

Correct Option : C

Explanation :

Mongols under Chengiz Khan (died in 1227) invaded India during the reign of lltutmish (1211-36) but
did not enter deep in India as lltutmish refused to give shelter to the Persian king, Khwarizm Shah,
whom Chengiz Khan was chasing.

Question (38)

Sellers market denotes a situation where

fashdr a1 weh e et & gl & Set

(A) Commodities are available at competitive rates/aReqd Tt & I 3Tt §
(B) Demand exceeds supply/HieT JTfct & 3 §

(C) Supply exceeds demand/ 3Tqfct #Hiar & 31fer &

Correct Option : B

Explanation :

Seller's market is a market which has more buyers than sellers. High prices result from this excess
of demand over supply. The opposite of the seller's market is the buyer’'s market, where supply
greatly exceeds demand.



Question (39)

Janardhan Negi, who passed away recently, was related to which field?
A AN, AR g T H ATy arar & ,agﬁ:&ra%rﬁq?gtr?}?

(A) Geophysics/#1-#ifaehr

(B) Sports/&@e

(C) Journalism/IaRTRAY

(D) Medical/fafhear

Correct Option : A

Explanation :

Noted geophysicist Janardhan G Negi (81) has recently passed away in Hyderabad. He was the
former Director-grade scientist at the National Geophysical Research Institute (NGRI). He was
known for making outstanding contribution in understanding earthquakes, mass extinctions,
especially dinosaurs and the movement of the Indian sub-continental plates

Question (40)

Consider the following functionaries:

farafaf@d verfted W fear &t

1. Cabinet Secretary/faste g

2. Chief Election Commissioner/H3EaT IATd 3T
3. Union Cabinet Minister/sheI T shidelc HIT

4. Chief Justice of India/$TRel o FEAT =g efier
Their correct sequence in the Order of Precedence is:
ST Ao # & T ITEA A E

(A)3,4,2,1

B)4,3,1,2

(C)4,3,2,1
(D)3, 4,1,2



Correct Option : C

Explanation :
Chief Justice of India, Union Cabinet Minister, Chief Election Commissioner and Cabinet Secretary is
the correct order of precedence.

Question (41)

Who has become the new Whole-Time Member (WTM) of the Securities and Exchange Board of
India (SEBI)?

forar s gfasifar 3R fafaas &S &1 a7am quishrellsl Heea S s § 2
(A) M M Patel/TH TH 9co

(B) Niranjan Sahu/fast=l |1g

(C) Gurumoorthy Mahalingam/a&#{fci HgTfelars

(D) S Raman/tT¥ {HdT

Correct Option : C

Explanation :

Gurumoorthy Mahalingam has become the new Whole-Time Member (WTM) of the Securities and
Exchange Board of India (SEBI) for a period of 5 years or till the age of 65 years,whichever is
earliest. He will get a consolidated salary of Rs 3.75 lakh. Previously, Mahalingam was the executive
director and former regional director of Reserve Bank of India (RBI).

Question (42)

Flow of blood in dorsal blood vessel of Earthworm is:

YU T IS 2B aTfget 7 v T TaTg fohdl 3R Bl & 2
(A) Forward/37aRmmHT

(B) Sideward/arerd# &

(C) Downward/37eneggy



(D) Backward/qeeramT

Correct Option : A

Question (43)

Which of the following non-members of Parliament has the right to address it ?
i@ # & g8 & fhd I T &I 38§ HaTtd L H1 FHPR § 2

(A) Attorney General of India/ ¥Rl T Hgl=ITIATET

(B) Solicitor General of India/ {Rd FT AT THBAT

(C) Chief Justice of India/ $TRc T FHEIITILIRT

(D) Chief Election Commissioner/ HEAT JaiTd 3T

Correct Option : A

Explanation :

The preamble of the Constitution of India is a brief introductory statement that set out the guiding
purpose and principles of the document. As originally enacted the preamble described the state as a
‘sovereign democratic republic’. In 1976 the Forty second Amendment changed this to read
‘sovereign socialist secular democratic republic’.

Question (44)

CAD stands for:

TSt fohaer g & 2

(A) Computer Aided Design

(B) Computer Automatic Design

(C) Computer Aided Decode

(D) Computer Automatic Decode

Correct Option : A



Question (45)

Match List-I with List-II and select the
correct answer:

TEt-1 1 T1-11 F Fofem F1 T 39 51 =991 F=H)

List-1/9=-1 List-I1/5=i-11

(Item in the (Country from which it
Indian Constitution)/ was derived)/
(AT HEaE F (3, wE A W
forma) )

a. Directive Principles 1. Australia/
of State Policy/T= &  #ifem

ifa fv fagta
b. Fundamental Rights/ 2. Canada/
Hife® AT FAE

c. Concurrent List in 3. Ireland/
Union-State Relations/ 3@l

d India as a Union of 4. United
States with greater Kingdom /
powers to the Union/ EREEERE L
T4 % °9 fF #fu%F @ 5. United States

A wiFmal & MY T9 of America/

F ®9 ° 9d T T I
Codes/%:
a b ¢ d
A 5 4 1 2
B 3 5 2 1
)5 4 2 1
Dy3 5 1 2

Correct Option : D

Question (46)

The book "SRK - 25 Years of a Life" has been authored by whom?
e “THIRH-25 ST 3T 37 1St fehdreh g3R fordl ariT &2

A) Samar Khan/d#X @iel



(B) R K Kapoor/3iR & &qY
(C) Sonali Kokra/dATelT shieht

(D) Omang Tripathi/3#aT AT

Correct Option : A

Explanation :

The book "SRK - 25 Years of a Life" has been authored by writer and filmmaker Samar Khan. The
book traces the journey of the Bollywood superstar Shah Rukh Khan through all his directors' eyes.
The thought behind the book was to show why his directors thought of such iconic characters for
Shah Rukh.

Question (47)
The centre of gravity of a sprinter during the race lies
gls % R T T I6ed g @I § —
(A) Ahead of his feet/3He% &R & 3Tar
(B) Behind his feet/ 3@ 81 & @IS
(C) At the centre of the body/2TR & 7L &
(D) To the left side of the body/eMR & T8 3R

Correct Option : A

Question (48)

Which vitamin deficiency causes the cracking of lips' corners ?

fFafaaF s a AT Feo A A B AT E 2
(A) Vitamin A/ faef@esT A

(B) Vitamin C/ [aeif@=1 C

(C) Vitamin B2/ faerf@= B2



(D) Vitamin B12 faerf@s B12

Correct Option : C

Question (49)

Assertion (A): The origin of feudal system in ancient India can be traced to military campaigns.

Reason (R ): There was considerable expansion of the feudal system during the Gupta period

HYA (A): U AR H AR Ll STGTAT HT 39T T o ATHIATAT T AT STMTAT ST FehelT & |
FROT (R): Ao &el & QNI SR Heell STaEAT o hrehT Faed forvam arr & |

(A) Both A and R are true but R is the correct explanation of A/ A 3R R TT & AfFT R FTA Y T
FGSEHIOT 7 |

(B) Both A and R are true but R is not a correct explanation of A// A 3iR R T & oiftheT R & A
q TEr TISERIT ¢ |

(C) Ais true but R is false/A T § SfeheT R el &

(D) Ais false but R is true/ A 3Tl § oifched R AT &

Correct Option : B

Explanation :
Both the statements are true but do not explain each other.

Question (50)

The term 'Aryan' denotes:

QIsg; “3TeT “ T gRfar § -

(A) An ethnic group/Ueh ST H#Hg I
(B) A nomadic people/TTATSEIT Il &

(C) A speech group/Tes HTYUT Hag T



(D) None of these/Sa & &IS sTg

Correct Option : C

Explanation :
Aryan is in fact a linguistic term indicating a speech group of Indo-European origin, and is not an
ethnic term.

Question (51)

The ratio of two numbers is 5 : 6, when the first is increased by 20% and the second is decreased by
20%, then the ratio of the resulting numbers is:

&l HEATHT &7 AT 5:6 §] ST Tgoll HE&AT 20% TS ST ¢ dAT GEY HE&AT 20% TRl ST §, o 31
o7 3Tl T B1am?

(A)4:5(B)5: 4
(C)5:6(D)6:5

Correct Option : B

Explanation :
~ Let the numbers are 50 and 60
respectively.

A : B

50 60

1—20% j~20‘%

60 : 48

s Required ratio =60: 48=5:4

Question (52)

A loss of 20% gets converted into a profit of 15% when the selling price of an article is increased by
Rs.105. Find the cost price of the article

SIS Ueh a&] o Tasha Hed # 105 1 e gialr &| dF 20% gTieT 15% of1ey & qRafcicl g1 STl &] € T
AR Hed A1d Y|

(A) Rs.100 (B) Rs.300
(C) Rs.200 (D) Rs.250



Correct Option : B
Explanation :
(B) Let SP = 100

Loss Profit
&0 115

+35

- 35 —— 105
1—— 3

w100 —— 300

Question (53)

A book is listed at # 1,400 and the discount
offered 1s 10%. What additional discount

must be given to bring the net selling price
to¥1,2007

fortfl meg &1 3ifd 9ea T 1,400 % 30 10% #1 52
=t Wt #1579 75 & T 1,200 ¥ 994 % fow
s gz i =

2
&) 162% B 5%
() 4%% (D) 6%

Correct Option : C

Explanation :

(C) Listed price = ¥ 1400
After 1st discount

a0
100 = 1400
T 1260
SP=% 1200
Additional discount %
1260 -1200

= —

1260

1004, - 4104,
21 21



Question (54)

A man loses Rs.75 per year when the annual rate of interest falls from 11.5% to 10%. His captial (in
Rs.) is:

aTf¥er saTeT 1 &Y 11.5% & 10% 8T STt 9X et e sl 75% hr ari¥eh gifel 81 SiTelt 8] 38T Jait (3
) &

(A) Rs.3700 (B) Rs.7400

(C) Rs.8325 (D) Rs.5000

Correct Option : D
Explanation :
Let the sum = 100 units

100
11.5% 10%
11.5 10
1.5
According to question,
1.5 units =75
| unit = 75
o lunit= 7=

s 100 units = :'5 = 100 =T 5000

Question (55)

When principal = ¥ S, rate of interest = 2r%
p.a, then a person will get after 3 years at
compound interest

Ift g UM = T S, =W = = 2r% Wiaaw, @ =
FI IFals =09 W 3 96 % =% T ufw foen?

65r r o
A 23 (B) %s[uﬁ)

a

r * I
(C) %s[uﬁ] (D) HS[“E]



Correct Option : B

Explanation :

[B)] According to the question,
Principal = ¥ 8
Rate = 2r% p.a
Time = 3 years

T
2 A=P[1+ 2
[+5%0)

2r
A=8[1+—
[*1-::-::}

3

]
A=51+—

[+50]

Question (56)

The sum of three numbers is 196. If the ratio of the first to the second is 2 : 3 and that of the second
to the third is 5 : 8, thenthe second number is:

et T3t &7 AT 196 §| AR TEelr 3R GE AT 2:3 & o7 H AT gEy AR Fadr s
AT 5:8 &, oY GERT HEAT AT Y]

(A) 60 (B) 48

(C) 30 (D) 20

Correct Option : A

Explanation :
(AJ)A+B+C=196
A B : C
12 H 3
'
5 5 : 8

10: 15 : 24
10x+ 15x+ 24x = 49x
49x =196
x=4

- second number (B)
=4 x 15
=60

Question (57)



A and B have their monthly incomes in the ratio 8 : 5 while their monthly expenditure are in the ratio
5: 3. If they have saved Rs.12,000 and Rs.10,000 monthly respectively, then the difference in their
monthly incomes is:

A 3R B T ATl 31T 8:5 & 3He]dTd H ¢ STafeh 3e7ehT ATl 4 5:3 & 37e]uTel A | IS 3epiet shaAr:
12,000% 311X 10,000% T oI I &1, df IeTehl ATTHH 3T 7 3] b= &2

(A) Rs. 42,000

(B) Rs. 52,000

(C) Rs. 46,000

(D) Rs. 44,000

Correct Option : A

Explanation :
(A) Let their monthly income be ¥ 8x and ¥ 5x
According to the question
8x-12000 5
5c-10000 3
= 24x— 36000 = 25x- 50000
x=14000
Difference in monthly income
8x-5x=3x
x= 14000
S 3x= 14000 = 3
=T42,000

Question (58)

A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do
the work if he is assisted by B and C on every third day?

A, B 3iX C T o7 oY shael: 20, 30 T 60 AT 7 Wee o &) af A et &=t 3 1T @eat Fyam
Ife B TUT C A i & 1 & 3Thr Jgradr $ia?

(A) 10 days/fe=T
(B) 12 days/fe=T
(C) 15 days/fesT
(D) 20 days/fesT



Correct Option : C

Explanation :
T.W
&0
3 1
2
20 30 60
days —s (A) (B) (€)

in 3 days cycle total work done is
=3+3+6=12 units

60
work will be completed in = 1z = 5 cycles

1 cycle — 3 days
Scycle -+ 3% 5=15days

Question (59)

A tap drips at a rate of one drop/sec. 60 drops make 10 ml. the number of litres wasted in 300 days
is:

Teh el ¥ Teh §g i Aehs T & & Tl 8] 60 & fAera 10 fAeielIey S=rel ] 300 &t 3 fahrcter
e gleil SehR I1AT?

(A) 4320000 ml/f&eT.
(B) 432000 ml/f&er.
(C) 43200 ml/f&elr.
(D) 4320 ml/f&elr,

Correct Option : D

Explanation :

1 sec — 1 drop

No. of second in 300 days

(24 hrs = 60 min = 60 sec)] = 300 days
No. of litres wasted

300 x24 x60 =60

6= 1000
= 4320 litres

hitres



Question (60)

A train 800 m long is running at the speed of 78 km/hr. If it crosses a tunnel in 1 minutes, then the
length of the tunnel (in meters) is:

T 800 #HY. Tl YeIMSY 78 fohafi/eret 1 11 & Teid gT Ueh FI9T Y 1 fAeTe # IR T oicll & 5o foh
3 G T orFaTg (A1 H) Foheeir gram?

(A) 77200 m/AHT. (B) 500 m/AT.

(C) 1300 m/AY. (D) 13 m/AT.

Correct Option : B
Explanation :

Speed = 78 kan /hr

% = 1000 m/min

= 1300 m/min

Distance travelled in 1 min
= 1300 m

= 1300 =1+ 800

[=500m

length of tunnel is 500 m

Question (61)

Speed of a boat is 5 km per hour in still water and the speed of the stream is 3 km per hour. If the
boat takes 3 hours to go to a place and come back, the distance of the place is:

oI Sfe 3 719 ¥ a1fey 5 faafi/erer & e ey i arfey 3 fpeiverer §) 3 A 3 wer 3 el g o St
T 3T ST &, 7 0 AT Y]

(A) 3.75 km/fhaT. (B) 4 km/fhaT.
(C) 4.8 km/fhaT. (D) 4.25 km/fRaT.

Correct Option : C
Explanation :



Speed of boat in still water, x =5 km/hr
Speed of stream, y= 3 km/hr
According to question,

Distance Distance

3 + ) =3 hrs
D D _
gt "3
5D
— =3
=8
5D=24
24
D=?=4_Ekrn

Question (62)

494
495

1
Find the value of E + 900g 99,

1

Lap—-
5 495
(A) 20000 (B] 99000
(C) 20900 (D) 99990

x 00 = OF @ Fi

Correct Option : B
Explanation :
1 494

T

494
0gg + 394
* [ 495} =99

1
1000 -
* [ 495] * 99

-1 . 00000- 2
=57 -5

=99000

% 99

|~

v =



Question (63)

8
The value of ] *

Correct Option : D

Explanation :
According to the question,

I
o oo
L

I
WO oo
L

Question (64)

Find the minimum vwalue of 9 sec? & + 4
cosect 0.

O sec? 6 + 4 cosec? § T 70 TF T4 FH
[A) 25 B a5

(C) 45 D) 20

Correct Option : A



Explanation :
9 sec’ 8 + 4 cosec”

casechH +b msecﬂﬁ]

(T A N

=0 +4+ 2fox4
=13+ 12
=25

Question (65)

Find the value of 5 sin? 6 + 2 cos? 6+

-
l+tan® 8"
J,r =} ——
5 sin® 6 + 2 cos” 6+ 1+t o =1 5 T Hi
(A) 5 (B 7
C) 8 (D) 15
Correct Option : A
Explanation :
. 3
{A]Ss.mﬂﬁ+2msﬂe+ m
. 3
= 5sin?0+2cos?h + 3
sec” @

=5sin*6+ 2 cos?0+3 cos*B
=5sin*A+ 5cos*H

= 5(sin*f + cos)
=5 [~ =in®0 + cos®0 = 1)

Question (66)



Ifa-b=6,b-c=-2and c-a=-4 then, find
a® +b* + ¢ — 3abe

a+b+e ’
% a-b=6b-c=-2TWc—a=-4 9,

a® +b* + ¢ - 3abe

the value of

1 IR TA i
at+b+ec
(A) 28 B) 36
(C) 32 (D) 24

Correct Option : A

Explanation :

(A) Given
a-b=6
bh-c=-2
c—a=—4

We know that

1
@+ P+ & - 3abc= E[ﬂ*’ b+ dlla-b?+

(b o + (c- @)

a® +b* +¢® - 3abe
a+b+c

1
= 5lla=b7+ (b= + -

a)

1
3(6°+ (2" + (4)

1
5(36+4 +16) =28

Question (67)

In a AABC, DE| | BC and the ratio of AD and
BD is 3 : 5. Find the ratio of area of AABC
and area of trapezium DBCE.

g9 ABC &, 9§91 DE| |BC % 7% 9= AD 3i
BD #1 94 3 : 5 21 frs ABC 3N 9o
w949 DBCE & &a%el F1 390 71 %1l

(A) 64:55 (B) 55:64

(C) 32:27 Oy 27:32

Correct Option : A



Explanation :

Area of trapezium
= Area of AABC — Area of AADE
=64-9
=55
So ratio = 64 : 55

Question (68)

1
If x - P ..,|I']_2 , then find the value of

xS+l
X .
x4 +1
s, 1
o x-— = f[3 & @ X 1 HF 74 Fi
x°+1
o 26 25
W = B 3
32 33
C)] — 0o —
© = o =

Correct Option : A
Explanation :



sox+— = fioyaq =
1[3 1]
4= x|l +—
o X
X
x 1 x’[f+iz]
X
s, 1
YT e4-12 52 26
el 14 14 7
x!

Question (69)

A metallic sphere of radius 10.5 cm is
melted and then recast into small cones
each of radius 3.5 ecm and height 3 cm. The
number of cones thus formed is:

10.5 =i f=n 9= ¥y % i %1 e 3.5
Tt fm e 79 3 O A T v | viEtE
o T v w1 HEn 9 H
(A) 140 (B) 132
(C) 112 (D) 126

Correct Option : D

Explanation :
Number of cones

Volume of sphere

Volume of cone

%n(lD.E]]

%nza_s.f X 3

4%10.5x%10.5%10.5
- 35%x3.5%3 =126




Question (70)

Ifa=3+ 242 and ab = 1, then find the

al a’ + 3ab + b*
VaNe @ _3ab+ b
. a +3ab+ b
qEa=3+ 215 ﬁab—l,mm
FT TF 79 Fi
31 41
(&) 3= B 35
o & o 35
(Cl 31 (D) 41
Correct Option : C
Explanation :
(C)a=3+ 243
ﬂ.b=
: Y7
b=3iafz 32 =7
a+b=a+l=6
a

. a’ + 3ab + b* _ a’ + b +3ab
" a® —3ab+ b a’ +b* —3ab

1

_@+—5+3 34,3 37

il 5 34373
a

Question (71)



The area of a circle is half when its radius
is decreased by n. Find its radius.

U T %1 AR A1 E WAl § 9E TEET 5 n
F4 FF AE 2| TEET T

A2 4
A o ® =

Jin Jon
© 5o O

Correct Option : A
Explanation :

1
(A) Gl mr? = ;(r — n)?

1
—_— = —_ 3
:21'“ r—mj

=r=.2(r-n

ir:*ﬁr_ﬁn

=1(J2 -1) = n
W2n

=r= _-.45—1

Question (72)

Area of two similar triangles are 196 cm2 and 256 cm2 respectively. If shortest side of the smaller
triangle is 7 cm, find the shortest side of the larger triangle.

el FHEY I3[l o &TTthor shafer: 196 TaT AT AT 256 F97 WY & Afe; BIe T3t S T BT 811 7
QAT 1 &, AT 73 YT hT Tl SIEN 97T ATl Y|

(A) 14 cm /T,
(B) 16 cm/TiHT.
(C) 8 cm/J&.

(D) 10 cm/&=T.

Correct Option : C
Explanation :



(C) Let the required side of triangle be x cm.

x* 258

So, 7= = Tog

49 x 256
X< o6

x=8cm

Question (73)

Direction (73-T5) : The pie chart given below
shows the spendings of a family on various
heads during a month. Study the graph and
answer the following questions.

o (73-75) : et famn wn wE = U= oiEw &
fafu=1 72i w us Wit & gu @ w1 F9na €)=
TeEA T A fam T we & I A

If the total income of the family is Rs.50,000, then the amount spent on Rent and Food together is:

e IRER &1 el 313 50,000 &, AT AT 3R ISt W) el T T 378 TR 8-

(A) Rs.17,250
(B) Rs.14,750
(C) Rs.11,250
(D) Rs.29,500

Correct Option : D
Explanation :



(D) -+ 100% =% 50,000
total percent spent on food and rent
= (45 + 14)%

3

. 0f =
s 59% 100

®x 59 =¥ 29,500

Question (74)

Direction (73-T5) : The pie chart given below
shows the spendings of a family on various
heads during a month. Study the graph and
answer the following questions.

o (73-75) : et famn wn wE = U= oiEw &
fafu=1 72i w us Wit & gu @ w1 F9na €)=
TeEA T A fam T we & I A

What is the ratio of the expenses on Education to the expenses on Food?
fR1&TT oY T I 2oy T Tt IR TP 9T S @ T 31T B2

(A)1:3

(B)3:1

(C)3:5

(D)5:3

Correct Option : A

Explanation :
Requiredratio =15:45=1:3



Question (75)

Direction (73-T5) : The pie chart given below
shows the spendings of a family on various
heads during a month. Study the graph and
answer the following questions.

o (73-75) : et far T o = U= ofEw &
fafa=1 7ai W Us wEr & §U @9 w1 F9na §) W
eI T A fam T we & Ie A

Expenditure on Rent is approximately what percent of expenditure on Fuel?

TP TR ST, Se1eT X ST T SI9TeTaT fohctatT Ifaerd &7
(A) 135%
(B) 156%
(C) 167%
(D) 172%

Correct Option : B
Explanation :

14
Required percentage = 9 100 = 156%

Question (76)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are



correct. Find out which part of a sentence has an error and blacken the oval corresponding to
the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

Mohan as well as (A)/ his sons and daughters (B)/ like to curry favour with the boss and his family
members. (C)/ No error (D)

Correct Option : C

Question (77)

The number of people (A)/ who own personal computer are (B)/ increasing every year. (C)/ No error

(D)

Correct Option : B

Question (78)

The Supreme Court said that the election (A)/ Commission could enquire into complaints of (B)/ paid
news against a political leader if the expenditure incurred on it is not disclosed. (C)/ No error (D)

Correct Option : C

Question (79)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval [ ] in the Answer
Sheet.

Some experts believe that we must change our criminal codes to to new concepts of
punishment.

(A) confirm (B) conform

(C) perform (D) incur



Correct Option : B

Question (80)

The Delhi Police set the to arrest the criminal.
(A) bait (B) conspiracy
(C) bet (D) protocol

Correct Option : A

Question (81)

It is not always that a work of non-fiction, __ the title and topic be, goes into a second print within
a year of its publication.

(A) however current and relevant

(B) moreover current and relevant

(C) howsoever

(D) notwithstanding anything in

Correct Option : A

Question (82)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

INNATE

(A) inborn (B) acquired

(C) mutated (D) prenatal

Correct Option : A



Question (83)

PURLOIN
(A) steal (B) demand
(C) request (D) like a lion

Correct Option : A

Question (84)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

INCARCERATE

(A) release

(B) impound

(C) imprison

(D) detain

Correct Option : A

Question (85)

BLANDISH

(A) wheedle
(B) cajole

(C) discourage
(D) entice

Correct Option : C



Question (86)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Consignment
(B) Entreperneur
(C) Invincible
(D) Bureaucrats

Correct Option : B

Question (87)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences. Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

Deepak did not care for his family; he wanted to gather roses only.
(A) to save money miserly

(B) to paint a rosy picture of the past

(C) to seek all enjoyments of life

(D) to obtain fame by hard work

Correct Option : C

Question (88)

Raman is a close-fisted person when it comes to investment.
(A) A powerful person

(B) A miser

(C) A close friend

(D) A cowardly person



Correct Option : B

Question (89)

Suddenly the balloon goes up in the middle of the conversation.
(A) the situation turns unpleasant or serious

(B) a sudden shift in the topic of conversation

(C) the conversation takes a lighter note

(D) an abrupt silence takes place

Correct Option : A

Question (90)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicized in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

Unless she does not work day and night with interest, her work will remain incomplete.
(A) Unless she works day and night interestingly

(B) Unless she does not work day or night from interest

(C) Unless she works day and night with interest

(D) No improvement

Correct Option : C

Question (91)

We could scarcely hear what he said, could we?
(A) couldn't we?

(B) can we?



(C) shouldn't we?

(D) No improvement

Correct Option : D

Question (92)

What does irritate me most is not this opinion, but the absurd logic behind it.
(A) most irritating me

(B) irritates me the most

(C) irritating me the most

(D) No improvement

Correct Option : B

Question (93)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

People of no fixed abode

(A) Barbarians

(B) Nomads

(C) Vagabonds

(D) Travelers

Correct Option : B

Question (94)

Code of diplomatic etiquette and precedence
(A) Formality
(B) Statesmanship



(C) Protocol
(D) Hierarchy
Correct Option : C

Question (95)

That which makes it difficult to recognize the presence or real nature of something
(A) Camouflage

(B) Transparent

(C) Infallible

(D) Image

Correct Option : A

Question (96)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

A man may usually be known by the book she reads as well as by the company he keeps, for there
is a companionship of books as well as of men and one should always live in the best company
whether it be of books or of men. A good book may be among the best of friends. It is the same
today that it always was and it will never change. It is the most patient and cheerful of companions. It
does not turn its back upon us in times of adversity or distress. It always receives us with the same
kindness, arousing and interesting us in youth, comforting and consoling us in age.

According to the passage, "A man may be known by the books he reads", because
(A) his reading habit shows that he is a scholar.

(B) the books he reads affects his thinking and character.

(C) books provide him a lot of information.

(D) his selection of books generally reveals his temperament and character.

Correct Option : D



Question (97)

A man may usually be known by the book she reads as well as by the company he keeps, for there
is a companionship of books as well as of men and one should always live in the best company
whether it be of books or of men. A good book may be among the best of friends. It is the same
today that it always was and it will never change. It is the most patient and cheerful of companions. It
does not turn its back upon us in times of adversity or distress. It always receives us with the same
kindness, arousing and interesting us in youth, comforting and consoling us in age.

Which of the following statements is not true?

(A) Good books and good men provide good company.

(B) A good book never betrays us.

(C) Sometimes we may have to be patient with a book as it may bore us.

(D) A good book serves as a permanent friend.

Correct Option : C

Question (98)

A man may usually be known by the book she reads as well as by the company he keeps, for there
is a companionship of books as well as of men and one should always live in the best company
whether it be of books or of men. A good book may be among the best of friends. It is the same
today that it always was and it will never change. It is the most patient and cheerful of companions. It
does not turn its back upon us in times of adversity or distress. It always receives us with the same
kindness, arousing and interesting us in youth, comforting and consoling us in age.

The statement "A good book may be among the best of friends" means
(A) a good book is the worst enemy.

(B) books may be good friends, but not better than good men.

(C) a good book can be included among the best friends of mankind.

(D) Our friends read the same good books.

Correct Option : C



Question (99)

A man may usually be known by the book she reads as well as by the company he keeps, for there
is a companionship of books as well as of men and one should always live in the best company
whether it be of books or of men. A good book may be among the best of friends. It is the same
today that it always was and it will never change. It is the most patient and cheerful of companions. It
does not turn its back upon us in times of adversity or distress. It always receives us with the same
kindness, arousing and interesting us in youth, comforting and consoling us in age.

Which one of the following would be the most suitable title for the passage?
(A) Books show the reader's character

(B) Books as man's abiding friends

(C) Books are useful for our youth

(D) Importance of books in old age

Correct Option : B

Question (100)

A man may usually be known by the book she reads as well as by the company he keeps, for there
is a companionship of books as well as of men and one should always live in the best company
whether it be of books or of men. A good book may be among the best of friends. It is the same
today that it always was and it will never change. It is the most patient and cheerful of companions. It
does not turn its back upon us in times of adversity or distress. It always receives us with the same
kindness, arousing and interesting us in youth, comforting and consoling us in age.

A book is a/an
(A) adversary (B) critic

(C) companion (D) burden

Correct Option : C



Question (101)

Directions (1 - 4) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

fo&ar (1-4): et 9% weat # Rw 71w el #§ & wrafeua snw/rsg/asa # gfav|
Rain : Umbrella : : Flood : ?

quT: BT 916 : ?

(A) Bridge/ge  (B) Electricity/farstelr

(C) Dam/aTgr (D) Water/qr=ir

Correct Option : C

Explanation :
Umbrella protects us from rain. Similarly, dam checks flood.

Question (102)

Man : House : : ?

Hosg 8l ::7?

(A) Cat : Mouse/fSeell : =gT
(B) Beast : Den/STTeIaX : Hig,
(C) Tree : Plant/93 : gitr

(D) Cage : Rat/ftar : <gT

Correct Option : B

Explanation :
Man lives in house. Similarly, Beast lives
in den.



Question (103)

BORE : 10 : : HOTEL : ?
(A) 12 (B) 15
(C) 25 (D) 30

Correct Option : A

Explanation :
A B ORE

L

2+#15+#18+5 = 40
40+4 =10
HOTE L

L]

B+15+20+5 + 12 = 60
60+ 5=12

Question (104)

6:12::20:7
(A) 50 (B) 30
(C) 42 (D) 38

Correct Option : B
Explanation :
2x3=6
3x4=12
4x5=20
5x6=30

Question (105)

Directions (5 — 7): Find the odd word/letters/number pair/number from the given alternatives.



fder (5-7): Ry a1 Rerent 7 & Rywer arsq/sram/aEan gea/we # gav|
(A) Parrot/didr (B) Bat/9#eTes

(C) Crow/&iar (D) Sparrow/a=r

Correct Option : B

Explanation :
Here, all except Bat, belong to hte class of
(birds), while bat is mammal.

Question (106)

(A) 6895 (B) 6958
(C) 7948 (D) 9783

Correct Option : D

Explanation :
In all other numbers the sum of the digits
is 28.

Question (107)
(A) BCDE (B) PQRS
(C) WXYZ (D) STUW

Correct Option : D

Explanation :
Each other group contains 4 consecutive
letters.

Question (108)

Directions (8-9) : In the following questions, a series is given with one terms missing. Choose



the correct alternative from the given ones that will complete the series:

fr&er (8-9): Rrafaf@a weal &, v sregwa R a1 § o v v oea ¥ v are Rsredi # A ag
e Reed giaw st s #1 QU H|

118, 182, 186,222,

(A) 318 (B) 266

(C) 258 (D) 226

Correct Option : D

Explanation :

118 + (unit digit)> =118 + 82 =118 + 64 =
182

182 +4 =186

186 + 36 = 222

222 +4 =226

Question (109)

7-!- 8g 9E 12i 162
7 ’ 6 ’ S : 4 bl 3 ? —
@A) as3 B) 162
4 4
C L D 2
Correct Option : C
Explanation :
7l.50 g2 50 ;550
7 7 & B 5 5
2230 152 50
4 4 3 3
The denominator is decreasing by 1, but the
: 50
numerator remains constant therefore > -

Question (110)



Directions : In question no. 10, which one set of letters when sequentially placed at the gaps
in the given letter series shall complete it?

farder : geaT 7. 10 #, 3raRY 7 FlT-W1 FHE Wil TATA T FHIR TG { & 78 H&W H@elT 1 [
FA?
ZX_TR_NLJ_FD _
(A) VPHB (B) VRHB
(C) UPJB (D) UPJD
Correct Option : A
Explanation :
Z—=X—=5V
T——SR—=—P
N—L—25J—5SH

F—sD—= B

Question (111)

Direction (11-12) : In question no 11 to 12,
select the missing number from the give

responses.
fador (11-12) : woa w=m 11 9 12 ¥, fau o famweat
¥ ¥ faqm wen g
5][9]]15
16| [29] | 2
49| [89] [147
(A) 45 (B) 48
(C) 51 (D) 54

Correct Option : B

Explanation :

B)5x3+1=16
l6=x3+1=49
Ox=3+2=29
29x3+2=89
15x3+3=48



Question (112)

8 12 14
6|54|7 8|51|4 92 |5
r 7 9
(A) 53 (B) 68
() 71 (D) 76

Correct Option : B

Explanation :

6x7)+(8+4)=42+12=54
B8x4)+(12+7)=32+19=51
(9%x5)+(14+9)=45+23=68

Question (113)

From the given alternative words, select the words which can't be formed by using the letters of the
given word.

e 71T denfoush Ursel 7 &, 39 UeE T ITA H, ST [GU ITT G, oh &R T TN X 7A6T §ATT I Tehl
el

PERMANENT

(A) REMNANT

(B) TRAMP

(C) MENTOR

(D) AMPERE

Correct Option : C

Explanation :
There is no 'O’ letter in the keyword.

Question (114)



If + means +, — means +, X means — and

(36 x4)-8 x 4

e e BN AT

A% + T Gaeid +, — T Gaod +, x F] Haod — 3N
. . (36x4)-8x4

R B oy Tor e e
(A) O B) 8
(C) 12 (D) 16

Correct Option : A

Explanation :
Using correct symbols, we have:

_ . [36x4)-8x4
given expression = Z——o—— T

_ 32:8-4  4-4
T 32-32+1 0+1

=0

Question (115)

In certain code language if LIBERATE is written as 56423172, then how TRIBAL will be written in the
same code?

e fondT FichTaeh HTST & LIBERATE &1 56423172 Tor@r SITaT &, aY 38 Hichiaeh ATYT H TRIBAL &l
g v for@r STuan?

(A) 736415 (B) 673451
(C) 476315 (D) 743615

Correct Option : A

Question (116)



Two position of a die has been shown here.
Which digit will be at top when 3 is at bottom.

71 99 H1 31 FAEA1E ) fg@m T 2 94 36F 3
49 2, 91 I FA-T1 FAF Awm?

(A) 4 (B) S
(€) 2 (D) 1

Correct Option : D

Question (117)

Arrange the words given below in a meaningful sequence.
foFT 2rsal & U wrdies A H A fey |

1. Accident/geieaT 2. Judge/=araeiier

3. Doctor/[Afhcaes 4. Lawyer/aehrel

5. Police/gferg
(A)1,3,4,2,5(B)1,3,5,4,2
(€)1,2,3,4,5()1,2,5,4,3

Correct Option : B

Explanation :
123252422

Question (118)



Which of the following diagrams indicates
the best relation between teacher, scholar
and student ?

= 4 4 wR-91 AEfa foss, fagm aw faadt =

a9 GaY Fam 22

® W0
©(©)o D)

Correct Option : A

Explanation :
(A) Some students may be scholars and vice-
versa.

Some students may be teachers and wvice-
versa.

Some students who are scholars may be
teachers.

Student Teacher

Scholar

Question (119)

Choose the correct mirror image of the
given question figure from amongst the four
alternative, if YX is a mirror.

fau T =R fagent § 9 v aFEfa F1 GE 300
wfafama &1 999 +¢ 3% YX 3901 21

Question figure /UvA ATHTa:
Y

g O
X
Answer figures/ 397 3TEfaal:

O

O O

(A) (B) (C) (D)

Correct Option : C



Question (120)

Identify the figure that will complete the
pattern.

39 A F TEAH S G2 F QW FHO
Question figure /WyH & :

Answer figures/3WT 3TFHfaam

(A) (B) ©) D)

Correct Option : B

Question (121)

Choose from the four answer figures the
figure that will be formed when the question
figure is folded into a box.

fau U AW W AT § | 39 AT w991 F
¥4 ¥ AFa FI UF ai99 & ®9 F Hg e

Question figures/Ws 3afaam :
Answer figures /37 3TEHfaam :
! ) \4 P
(A) (B) (C) (D)

Correct Option : C



Question (122)

Select the alternative in which the question
figure can be found.

I AFfa F1 997 ¢ foqd wea agfa fifza 21
Question figure /W¥a 3T&Hfa:

Answer figures/ 39T 3Tafaal:

N
N
N
\

(A) (B) (C) (D)

Correct Option : C

Question (123)

At what time between 6 and 7'o clock the
hands of a clock concide?

6 3N 7 99 % 99 9 999 91 1 g2 e o
foewdt €2
8

8
(A) 32-1—l min past 6/6 FFHT 32-1—1 foz

8 8
(B) 34ﬁ min past 6 /6 THHL 34ﬁ foz

8 8
(C) 3Oﬁ min past 6/6 FFHT 30H foz

5 5
(D) 32; min past 6/6 F9HT 327 e

Correct Option : A
Explanation :



T=6+ [lg_l[mamn}]

e [3&0]
- 11

= 6 past BEE min
11

Question (124)

Directions (24): Two statement is given followed by two conclusions | and Il. You have to
consider the statement to be true, even if they seem to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follow from the given
statements.

f&er (24): @Y FYUT A T & ToreTah MY Q) ASHT | FUT 11, 3TIHT FUAT F) T ATART fTIR FET1 8,
g 98 AHAET: AT a3 § Biea welia @1 8] 3mae! vy w3 § fF e v farsest & @ #ia-ar
fafRaa v & R 7w Fy=t garT @@ Awaar d, af F &

Statement/sYd:

All carts are cars./T$ ST, FR g

All cars are trains./@slY IR, LeEMST &
Conclusions/fasHy:

I. All carts are trains./g#Y IMaT, JTIMMST &
II. All trains are carts./@siy YoTamaY, amaY &

(A) Only conclusion | follows.
herel foTsehy | 31T EROT &l B

(B) Only conclusion Il follows.

Sharol || 3eTHTOT T &
(C) Both conclusion | and Il follow.
alat forsehy | T 11 3eTEOT L &

(D) Neither conclusion I nor Il follows.



o Y fersehy | 31 A7 &Y 1l 31eTERoT el B

Correct Option : A
Explanation :

Trains
Cars
Carts

Question (125)



A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented by two
classes of letters as in two matrices given
below. The columns and rows of Matrix-I are
numbered from O to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘M’ can
be represented by 42, 31 etc., 'P can be
represented by 95, 88 Similarly, you have
to identify the set of numbers for the word
‘ROST".

TF V= had UF SeA-09E g S9E T g, S
T fawredt § 9 felt v o fon 7 21 famresi o fam
T HEA-AgE A % 3 9 g g e §, S
et fqu 7 3 egE ° ¥ AegE-1 F WY A g
FIEHSA 0 G4 §F E T R ATE-NF1 5T 9 H
ORI A TF 340 F] Ted SUH] S A1 9% ° =Y
T g T W TEA § TWeW & fau M H:
42, 31 g =@ 1 g&al 2, 'P H 95, 88 EW
W W HEA #| 36 aE °, A9H ¥R ROST'H
e Wem a9 w1 A 2

Matrix-1/5T5J6-1  Matrix-I1/3To8-11

0112|134 516|789
4| K|LIM|N|O||9|P|Q|R|S|T
3ILIM|K|O|N||8|T|S|Q|P|R
2IN|O|ILIM|K||7|R|T|S|Q|P
1IM|IN|O|K|L||6|S|P|T|R|Q
O|O|L|IN|L|M||S|Q|R|P|T|S

(A) 56, 44, 67, 40
(B) 97, 21, 66, 29
(C) 75, 00, 10, 92
(D) 68, 33, 65, 58

Correct Option : D

Question (126)

Which amongst the following states/UT has not identified tribal community?



Ao & O g TeT/EY T 817 Fiof AT Y, TS IS AT Sei- ST Ty w761 ¢ 2
(A) Chhattisgarh/&Ia3Tg

(B) Haryana/gRamom

(C) Maharashtra/AgRTSE

(D) Karnataka/&dTce

Correct Option : B

Question (127)

Among the following, which one is not an ape?
AEAfRd & & v FeT AL R 2
(A) Gibbon/flsa  (B) Gorilla/aMReer

(C) Langur/e9X (D) Orangutan/3{RaJeTel

Correct Option : C

Explanation :
Gibbon, Gorilla and Orangutan are apes,
but Langur is not an ape, it is prosimians.

Question (128)

Vulcanization of rubber is carried out by adding:
TSR FT aTedaTgaree & T, 399 AT Srar &-
(A) Sulphur/&FehI
(B) Carbon/areiet
(C) Ozone/3iISilsT
(D) Phosphorus/®rERRE



Correct Option : A

Question (129)

Which one of the following is an insectivorous plant?
frfaf@d 7 & e v Hresah derd 2

(A) Passion flower plant/s{eleT %ef & dier

(B) Pitcher plant/fi=iX Telie

(C) Night queen/RTd T

(D) Flame of the forest/sdaTel ST SaTelT

Correct Option : B

Explanation :

Pitcher plant is an insectivorous plant. It
feeds on living creatures including insects
and small mammals. These plants attract the
prey with a smell of rotting meat. The victim
is dissolved by some enzymes.

Question (130)

Where is the headquarters of the Confederation of Indian Industry (CII)?

HRAT 3egler aRE (IS ) T HEATeIT gl W ?

(A) Pune/gor  (B) New Delhi/=T$ feeeir

(C) Bhopal/$fdTel (D) RaipurRIAIqT

Correct Option : B

Explanation :

The Confederation of Indian Industry (ClI)

is an association of Indian businesses which
works to create an environment conducive



to the growth of industry in India. The
headquarters of Cll is located at New Delhi.
It is in news because ClI has launched a
unique platform "Startup Mentorship Circle"
in Mumbai to help in connecting start-ups
with the global marketplace. The platform is
truly a strong eco-system for nurturing
innovation and startup to drive sustainable
economic growth and generate large scale
employment opportunities.

Question (131)

What is the theme of the first-ever World Tsunami Awareness Day (WTAD)?
agell X AT GoATHY SiTehdehcll fead (WTAD) T fow (i) ar g 2
(A) Reduce Mortality, Raise awareness/ Rsg# AIETIEr 3oT 3aaerd

(B) Knowledge for Life/dTorsT BIR ISt
(C) Live To Tell: Raising Awareness/a1sd ¢ &eol: Y391 /a3 d

(D) Effective Education and Evacuation Drills/gthfeed Usiehelel U f3ed

Correct Option : D

Explanation :

The first-ever World Tsunami Awareness

Day (WTAD) has been observed on November
5, 2016 to spread awareness among people
across the world in matters related to the
dangers of tsunami and shall stress on the
importance of early warning systems in order
to mitigate damage from the often devastating
natural hazard. It also aims at reviving
traditional knowledge about tsunamis. The
2016 theme of WTAD is "Effective Education
and Evacuation Drills".

Question (132)

The Assam state derives its name from that of a tribe that conquered the region. Where did the



tribesmen come from?

3THH [T HI ATH 39 STelllfd I IQ@T IAT AT 39 &1 I ST AT [T FHeTell hel F 31T AT?
(A) Tibet/fasaa

(B) Mongolia/&amferar

(C) Burma (now Myanmar)/§#1( 31§ #IAR)

(D) Siam (now Thailand)/FITH( 31§ ATSols

Correct Option : A

Question (133)

The book "An Era of Darkness: The British Empire in India" has been authored by whom?
QEcleh  Tel U1 3T SThaAer: & Tfeer Trumr 37 S3ar fohdeh 3R fadr 15 § 2

(A) Amrish Tripathi/3rErer Barér

(B) Hamid Ansari/gTf&e 3Ry

(C) Shashi Tharoor/If2r 2R

(D) Romesh Dutt/Ir &

Correct Option : C

Explanation :

The book "An Era of Darkness: The British
Empire in India" has been authored by Dr.
Shashi Tharoor, the Lok Sabha MP. The book
recalls in some detail misdeeds of the British
in looting India and making it suffer an
agonizing and violent death. In it, author has
rightly points out that British rule in India
was effectively and regularly supplemented
by famine, forced migration and brutality -
the three examples of why British rule over
India was despotic and anything but
enlightened. The book has recently released
by the Vice President of India M. Hamid
Ansari.



Question (134)

From the third century AD when the Hun invasion ended the Roman Empire, the Indian merchants
relied more and more on the:

ey QrATSEY ST 3 gUIT o 3MTehaT 0T W AHeA oh HIHTCY i FHATTCH o TR I $RAY IR 31 &
31f8e TR & -

(A) African trade/37shIehT SITUR WX
(B) West-European trade/afer#-JUdI¥r MR @
(C) South-East Asian trade/af&T0T-qd TfAIITS SATIR 91X

(D) Middle-Eastern trade/He3-qdf samaR @

Correct Option : C

Explanation :

After the 3rd century AD Roman Empire
came to an end. Indian merchants
meanwhile had begun to rely more heavily
on the south-east Asian Trade.

Question (135)

Which state government has recently inked MoU with Union Ministry of Civil Aviation for Regional
Connectivity Scheme (RCS)- UDAN?

fFT ToT TR o gTell H 113 HUS ANSTaAT (3RETTH)-UDAN & forr AR 355T FHATIT o A1
ARSI AT 3 ATIA R e fhu g 2

A) Assam/3T8H
(B) Odisha/33r T
(C) Haryana/gRamom

(D) Madhya Pradesh/ATeT g¢er



Correct Option : A

Explanation :

The Assam government has recently

signed a Memorandum of Understanding
(MoU) with the Union Ministry of Civil
Aviation (MoCA) under Regional Connectivity
Scheme (RCS) - UDAN to boost State air
connectivity. The Airports Authority of India (AAI) shall be the Implementing Agency for
the scheme on behalf of Ministry of Civil
Aviation. As per the MoU, the State
Government shall reduce VAT to 1% or less
on ATF at RCS Airports and for RCS flights
from other airports located within the state.
The Government of Assam shall also provide
minimum land for development and
expansion of RCS Airports and also provide
multi-modal hinterland connectivity (road,

rail, metro, waterways, etc.) as required.

Question (136)

Who among the following streamlined the Maratha administration after Sambhaji?

7T 7 A T TSN & FTe; ATST JATHA T FeAarayd fohe & 2
(A) Raja RamTSTRTH
(B) Balaji Vishwanath/aTelTsi faeareIrer

(C) Ganga Bai/33TeTs

(D) Nanaji Deshmukh/=IT=ITsit ¢RI

Correct Option : B

Explanation :

Balaji Vishwanath. As Sambhaji (1680-89)
were succeeded by Rajaram, Shivaji ll,
Tarabai and Shahu ji. Balaji Vishwanath
played a crucial role in the final victory of
Shahu by winning over almost all the Maratha
sardars to the side of Shahu. Under Baji Rao
| Maratha power reached a zenith. But that
option is not given.



Question (137)

"Petrotech-2016" the International Oil and Gas Conference and Exhibition will be held in which city?

IRISERT de U9 3 Fade 3R weelal “deies 2016” fong 28T & 3mafaa fhar smeem?
(A) New Delhi/sT$ feelr

(B) Tokyo/eifear

(C) Tehran/dexTet

(D) Kabul/@rger

Correct Option : A

Explanation :

The 12th edition of International Oil and

Gas Conference and Exhibition "Petrotech-
2016" will be held at Pragati Maidan in New
Delhi on December 5th. The 2016 theme is
"Hydrocarbons to fuel the future - Choices and
Challenges". The purpose of the global event
is to bring Energy Ministers, industry leaders,
professionals, academicians and domain
experts from the energy sector on a common
platform. It is a biennial platform for national
and international experts in the oil & gas
industry to exchange views and share
knowledge, expertise and experiences.

Question (138)



Match List T with 1T and select the correct’
answer using the codes given below the

lists.

g1 1 gE-11 | gaferm %1 9 g 7 gfeai &

yaftzai § HieE ®2l &1 ST &1 G839 F 999

el

List-1/gei-1 List-11/9=i-11

(Period)/( 37afa) (Event)/( 92T )

a. 1883 Announcement of
Communal Award
from Whitehall/
fafen @R 31
H9EIaF TOFR F
=TT

b. 1906 Formation of the
All India State
Peoples Conference
AfEe a2
=R FHT F1 TH

c. 1927 Foundation of
Muslim League at
Dacca /@1 ¥ gfem
M = A

d 1932 First session of
National Conference
at Calcutta/Fe®dl
¥ e F6E &
Teodl 94

Codes/®2:

a b ¢ d

A)4 3 1.2

B3 4 1 2

)4 3 2 1

(D)3 4 2 1

Correct Option : C

Explanation :

Nawab Salimullah founded Muslim League
in 1906 at Dacca. Communal Award was
announced by Ramsay McDonald in 1932.




Question (139)

The "Red Data Books" published by the International Union for Conservation of Nature and Natural
resources (IUCN) contains lists of?

1. Endemic plant and animal species present in the biodiversity hotspots./ Sta fafatrar # #isiar
T G 3R 9L TSIt 3 MTehyoT she; & foIw

2. Threatened plant and animal species./faeed g1at T e 9X dte) AR ag) gerfaar

3. Protected sites for conservation of nature and natural resources in various countries./faf@e=T g2if
A yepfcl AR UTehfcien FATET & HIETOT & T FIiaTd TU1= |
Select the correct answer using the codes given below.

forr fw 91T e 1 TRteT FXeh FET 3 T ahT |
(A) 1and 3/1 3R 3

(B) 2 only/ahder 2

(C) 2 and 3/2 3iR 3

(D) 3 only/shdel 3

Correct Option : B

Explanation :
The red data book contains only 8 lists of
threatened plant and animal species

Question (140)

Plimsoll line is a reference line in a:
TeHTeT offgeT & HedT 7 & -

(A) Plane/faATsT

(B) Train/XeTamar

(C) Ship/sigrst

(D) Submarine/deTgsdT



Correct Option : D

Question (141)

Pandit Amaradeva, who died recently, was the music legend of which country?
uf3d 3reReT ,fSeTeht Tl & & e gY 13 §,98 v ¢ & 9Riey Tefiasr & 2
(A) India/gTSar

(B) Nepal/sTdrer

(C) Sri Lanka/#fefent

(D) Bhuta=T/sfeTet

Correct Option : C

Explanation :

Pandit Amaradeva (88), the legendary Sri
Lankan singer and composer, has recently
passed away in Sri Jayawardenepura Kotte,
Sri Lanka. He was the recipient of many
international honours, including Ramon
Magsaysay Award, Padma Shri, for his
contribution to music.

Question (142)

The amount of chlorine available in water after disinfection is called as:

THHHATT & d1 Tl H 3TTsY FollNeT bl ATIT hl hgd g ?

(A) Free chlorine/Hed FeifeT
(B) Residual chlorine/31afIse el

(C) Free available chlorine/HeFd 3uclstl FolReT

(D) Combined available chlorine/Sged 3Cellecy Fell el



Correct Option : B

Question (143)

Generally, the soil of the northern plains of India has been formed by
AT AR ol 3o HaleT o [AcE ganT [fdd & 2

(A) degradation/3T9ey

(B) aggradation/s{ffigefer

(C) weathering in situ/3T9&TI

(D) erosion/ 3T9&0T

Correct Option : B

Explanation :

The Northern Fertile Plain which is also
called the Gangetic Plain lies to the south of
Himalayan Region. The soil of this plain is
built of the sediments and brought down by
the rivers from Himalayas. Such plain is
called an alluvial plain and it is very fertile.
This plain is one of the largest and most
fertile plains of the World. Aggradation is the
term used in geology for the increase in land
elevation due to the deposition of sediment
which includes lowland alluvial rivers, river
deltas and alluvial fans.

Question (144)

What provision in the constitution enabled the Central Government to impose the service tax and to
expand its span?

e & T YT o chg, TR ! AT o 9Tl 3 3T AT TerieT fwR fear 2

(A) List 1, Schedule 7/ 1, 31Tq= 7



(B) List 3, Schedule 7/ g 3, 37e1&=l 7
(C) Residuary Powers under Article 248/ 3feJe8c248 & 37cTeTel 3afRrse rfecar
(D) Emergency Powers/3TTaTderTelleT Qfehcar

Correct Option : C

Question (145)

A man cannot see clearly beyond 10 meters. The disease he suffers from is:

Teh 3TEHT T 10 FIET T gl & 31191 TS §G  oTE1 @ Heohdl &[98 WT A I & —
(A) Far sight/gZefSe ary

(B) Myopia/ferce fee aw

(C) Cataract/Afaafaee

(D) Hypermetropia/&rergfee gy

Correct Option : B

Explanation :

The man who is suffering from myopia

has a vision condition where he can see close
objects very clearly, but objects farther away
appear blurred. Nearsightedness occurs if the
eyeball is too long.

Question (146)

In a business, raw materials, components, work in progress and finished goods are jointly regarded
as

Teh SHGH H, el oTel , 37ad, SR 7 Yarell 3R IR Alel HJeFcl §9 8 gl STl o —
(A) capital stock/gaiiaTeT ¥eTeh

(B) inventory/ared g



(C) investment/faiaer
(D) net worth/&eT Hed

Correct Option : B

Explanation :

Inventory refers to raw materials, workin-
process goods and completely finished

goods that are considered to be the portion of
a business's assets that are ready or will be
ready for sale. Inventory are also represented
as one of the most important assets that most
businesses possess because the turnover of
inventories represents one of the primary
sources of revenue generation and
subsequent earnings for the company's
shareholders/owners.

Question (147)

Devaluation means

AT AT

(A) Depreciation of the fixed assets/f&2R aR&TFafy Fr

(B) Increase in the currency value in terms of foreign currency/facelt FeT & HH A Hel Hed H Jefor

(C) Reduction in the external value of currency/dgr CORCTS qe H FaY

(D) Fall in valuation of the essentials in an economy/3Ieaa&AT A 3TaLleh TEI31T & Hediche &

Correct Option : C

Explanation :

Devaluation in modern monetary policy

is a reduction in the value of a currency with
respect to those goods, services or other
monetary units with which that currency can
be exchanged. It means official lowering of
the value of a country’s currency within a
fixed exchange rate system.



Question (148)

Sometimes computers and cache registers in a foodmart are connected to a UPS system. What
does UPS mean ?

3T 3 T [EATEH HEX AR Frer e I v gomelr A 52 A § | g v A § 2
(A) United Parcel Service/JsATges IRTel Hatd
(B) Uniform Product Support/gfr Yisere Hale

(C) Under Paneling Storage/31aX JaifeldT TeRkeT

(D) Uninterruptable Power Supply/3ifa=aRdadise 9aR TS

Correct Option : D

Explanation :

An uninterruptable power supply (UPS) is

a backup power supply, such as a battery that
provides emergency power in the event when
power is lost from the main supply

Question (149)

Which among the following metals provides amphoteric oxide?
a1 & & leT &Y arq] 3977 Gt 3iTFATSS YeTel A § 2

(A) Sodium/af 3T

(B) Silver/aidr

(C) Aluminium/TegfAfarae

(D) Calcium/sfeaas

Correct Option : C

Explanation :

An amphoteric oxide is a molecule or ion
that can react as an acid as well as a base.
Many metals such as zinc, tin, lead,
aluminium, beryllium and most metalloids
form amphoteric oxides or hydroxides.



Question (150)

Match List-I with List-II and select the
correct answer using the code given below
the Lists

gel-1 3R gEt-11 F gefea #1337 59§ 7 g9

T FI3 F AN & Fel 30 F 99 Hi
List-1/ge-1 List-II/g=i-11

(a) Member of 1. Elected by an

Parliament/ Electoral College/
HEE F1 W faier Heel g faifem
(b) President/ 2. Elected by the
et Parliament /855%
g faifaa
(c) Vice-President/ 3. Elected by the Lok
Iq-TegEa Sabha /@991 37
fraifaa

(d) Speaker/#%3% 4. Elected by adult
voting /93%h HasH
g faifaa

Code: /"5\'!

(a) () (c) (d)
A 1 2 3 4
B 2 3 4 1
€ ¥ ¢ I 2
D) 4 1. 2 3

Correct Option : D
Explanation :

(D)

Member of Parliaments are directlye
elected by citizens of India on the basis of
Universal Adult franchise, except two who
are appointed by the President of India.
The President of India is elected, from ane
Electoral College comprising a group of
nominees, by the elected members of the
Parliament of India (Lok Sabha and Rajya
Sabha) as well as of the state legislatures
(Vidhan Sabhas).

The Vice President is elected indirectlye
by an electoral college consisting
members of both houses of the
Parliament.



Members of the Lok Sabha elect theire
Speaker in the first meeting of the House
after a general election.

Question (151)

When 75% of a number is added to 75, the result is the same number. Find the number.
oY HEAT & 75% H SIS 75 ST SATdT &, RO g8l T&IT 31T &, aF T&IT AT Y|

(A) 225 (B) 270

(C) 300 (D) 325

Correct Option : C
Explanation :
3
(C) 75% =

Let the number = 4x
According to the question

3
= dxx 2 +T75=4x

= 3x+T75=4x

x=75

- Reqguired number = 4x
=4 x75=300

Question (152)

A person on selling an article for RsRs.96 finds that his loss percent is one-fourth of the amount of
rupees that he paid for the article. What can be cost price?

Teh GohloleR GaRT a& T 96 H aelel U Ig TN I1AT fohs SHeRT gliet TTclered sl Hed & Toh-TtTs &
SRR 8, ¢l TE 1 T Hed AT HIToIg|

(A) Rs.160
(B) Rs.240

(C) Rs.160 or/aT Rs. 240

(D) Rs.480

Correct Option : C



Explanation :

(C)5.P=%96
let CP=% x
Lo %_1 X
o, Loss —4I— 2
] X x—96
e, — = = 100
1 x

¥ = [4x— 384) = 100

= ¥ —400x + 38400 =0

= x*—240x- 160x+ 38400 =0
[x—240) (x- 160)

x=2400or 160

Question (153)

A sum of money becomes 41/40 of itself in 1/4 year at a certain rate of simple interest. The rate of
interest per annum is:

1S YT HTUROT sATST T fordll aT § 1/4 a 7 TIT T 41/40 (0T 81 A §| AT AT & 8-
(A) 10% (B) 1%

(C) 2.5% (D) 5%

Correct Option : A

Explanation :
(A) Sum Amount
40 41
+1

1=100

% rate = 1

40 = —

4

% rate = 10%

Question (154)

An amount of Rs.8000 lent at 5% per annum compound interest for 2 years will become:
F8000 T 3L & 1S RN 5% AT THIE e ST I &I F 2 aut 7 forcter gr SArwair?
(A) Rs.8815 (B) Rs.9000



(C) Rs.9800 (D) Rs.8820

Correct Option : D
Explanation :

5 2
D) Am t=8000|1+——
(D) Amoun [ mUJ

8000 = 21 =
- — N —
20 20

=T HE20

Question (155)

Two vessels A and B contain milk and water mixed in the ratio 4 : 3 and 2 : 3. The ratio in which
these mixtures be mixed to form a new mixture containing half milk and half water is:

al actel A 3R B # g1 3 UTell &7 31eTdTcl el 4:3 AT 2:3 §| 31 Sctall & TAAOT 1 foh 3regaray 7
TR ST 2T 7T TR0 & JTem g & 3T 91t 812

(A)7:5(B)6:5
(C)5:6(D)4:3

Correct Option : A

Explanation :

A) Milk : Water
A 4 : 3
B 2 : 3

MNew mixture 1 : 1

N4
l‘c./g\ll

rattio=7 : 5

=1+
| b



Question (156)

If two-third of A is four-fifth of B, then A: B =7?

Ife A &7 2/3aT REAT B & 4/5 J fRTd & SIeX &, ar A : B AT Y|
(A)5:6(B)6:5
(C)10:9(D)9: 10

Correct Option : B
Explanation :

B) 2A= +B
(B) 3A=3

= 10A=12B
A : B
12 : 10
6 : 5

Question (157)

A can do a piece of work in 25 days and B can do the same work in 30 days. They work together for
5 days, how much work is left?

A fREY T & 25 et 7 aur B 38 1 1 30 AT 7 ¥ Teh & alt 5 =T deh A 1 ey §,
3T fohdeT 1 AV I AT &2

(A)15/30 (B) 11/30

(C)12/30 (D)19/30

Correct Option : D
Explanation :



(D) 150 (total work)

A.—FES‘E
BE—30| 5

* A does 6 units in 1 day
B does 5 units in 1 day
Total work of (A + B) in 1 day = 11 units
Sdays =11 * 5= 55 units
work left = 150 — 55 = 95 units
95 19

Remaini k= — = —
maining wor 1 20

Question (158)

A cylindrical cistern of diameter 50 cm is
full of water. If 22 litres of water is drawn
off, the water level in the cistern will drop

by (Usen = %)

50 Hi. =9 A SR 26 9§ 990 g €1 A
22 & gt e famn 9w @@ 297 § 9 =

faT =9 =2

(A) 11% cm/¥H. (B 12% cm /5.

(C) 10% cm/FH. (D) 20-2— cm /¥

Correct Option : A
Explanation :

[A) Volume of cistern = nrth
nr'h = 22,000 cm?®
22 50 50

?K?X E!h=22,{]ﬂﬂ

_ 22000=x T=x2x2
T 22%50x50

56
5



Question (159)

A train covers a distance between station A and station B in 45 minutes. If the speed of the train is
reduced by 5 km/hr, then the same distance is covered in 48 minutes. The ditance between station A
and B is:

Teh YHIIIST A TTUT B sssssssstssstassstssssssEEaAT & sieT i gl 45 fAeTe # T3 &l §] TG 38
Xeame Y 311 # 5 fohai/erveT Sy et Y &Y ST a9 gJ 48 fAet H T gich 8] deIdR, A J21 B
AT o e b1 gl fehetatl 872

(A) 60 km/feRaT.
(B) 64 km/fraT.
(C) 80 km/fRaY.
(D) 55 km/fRaT,

Correct Option : C

Explanation :

(C) Time > 5 ance
A : B
45 48
15 : 16

A : B

Speed 16 : 15

16 : 15

‘EMuE
80 km

5 km

Question (160)

The average of three numbers is 154. The first number is twice the second and the second number
is twice the third. The first number is:

3 TEAT3T T AT 154 8| Tgell TEAT @l A gIf=iT & 3 @y T&ar el & gafei & Teell Jear &-



(A) 264 (B) 132
(C) 88 (D) 66

Correct Option : A
Explanation :
(A) Let third number = x
- second number = 2x

and first number = 4x
Sdx+2x+x=154 =3

= Tx=462
462
Lx=—— =6A
=7

- First number = 4x=4 = 66 = 264

Question (161)

232 - 3¥4 + Y500 =2

(A) 436 (B) 322
(C) 634 (D) 916

Correct Option : C
Explanation :

[C) 232 x4 - 3% + P57 x4
=2x 234 - 333 + 534

= 934 - 334

= 634

Question (162)



1 1
lf—x-=———,thenthevalueofx—x’is:
a a x
1 1
WEas A -
a a x
(A) —a B =
(C) a D) ~=

Correct Option : C

Explanation :
x 1 1
C)==—-—
{}ﬂ a X
x_1__1
a e X
x-1__1
a X
1-x _l
xl-x=a
-¥=a

Question (163)

I is the incentre of a triangle ABC. If ZACB
= 55° and ZABC = 65°, then the value of ZBIC

182

1 fas ABC %1 sfa@= 81 3k ZACB = 55° 7
ZABC = 65° 7, @ £BIC @ &l

(A) 130° (B) 120°

(C) 140° (D) 110°

Correct Option : B
Explanation :



(B) A

B c

ZACB = 55"
ZABC = g5°
LBIC=72
. ZACB+ sABC + £BAC = 180"
ZBAC = 180" - 55* - 65*
ZBAC = a0°
We know that

1
LBIC =190 + Ezjﬂ

1
ZBIC =190 + 2% 60

90 + 30
LBIC =120°

Question (164)

1
If x = 3-8, then find the value of x* - pr o

2 x= 3—J§,a\x‘—;17 1 TH T\ H

(4) 81642 (B) 8143
(C) 830 (D) 835

Correct Option : A
Explanation :



—=3+J§
x+%—ﬁ ..[i)
Sﬂ,x—%= 36-4 = 32 ....[ii)
. (LY
() [f]

=34 % f » Jﬁ

=34 x6x f2x2x2x2x2
=34 %6 x 442

= 81642

Question (165)

Find the minimum value of 27% % x g]es 3,
Q7% 3 x g]coa 3 FT TAH HH T FI

(A) 3% (B) 4=

(C) 3= (D) 4=

Correct Option : A
Explanation :
(A) 27sa3 . gleass
= Q3s&n 30 | Pdens 30
= 33&':115 + 4 ook @
=35 [':ﬂsinﬂ+b::nsﬂ]

min = —a” +b*



Question (166)

Perimeter of a rhombus is 2P unit and sum
of length of diagonals is m unit, then area
of the rhombus is:

TF THEQYS F1 9AEN 2P 3HE € S fawei w5
T F A m IFE €, 9 GEEgs #1 Gaed
fFam 22

1
m?P sq. unit/3 TFE

Ly

(B) m?P sq. unit/3 IFE

(C) (m*- P?) sq. unit/=@ 3F7%

i L I

(D) a (P?— m? sq. unit/a 3F3

Correct Option : C

Explanation :

(C] Perimeter of thombus
= d4a = 2P
2a=P

= 4a* =P

We know,
d? + d2 =4a? (when d, d, are diagonals)
d+d,=m
(d, +d)*=m?
d? +d2 +2d,d,=m?
FP+2dd,=m?

1
Area of rhombus = 7 d,d,

l 2
- 3w =P

Question (167)

Three sides of a triangular field are of length 15 m, 20 m and 25 m long respectively. Find the cost of
sowing seeds in the field at the rate of Rs.15 per sq. m.

Tenely TeTSTTohY &7 T 87T 15 #T., 20 #Y. T 257, 8| %.15 ict a1 #Y. & &3 & &7 & oot allel b1 @l



AT |
(A)Rs.3000 (B)Rs.6000
(C)Rs.7500 (D)Rs.2250

Correct Option : D
Explanation :

(D) A

25 m
15m

B 20m C

15, 20, 25 form a triplet
Clearly = 25% = 152 + 207
AABC is a right angled triangle

1
Area of right AABC = 5 x AR = BC

1
=§!15!20=15G5q.m

cost of sowing seeds = 150 = 15 =% 2250

Question (168)

The average of first three numbers is double
of the forth number. If the average of all the
four numbers is 12. Find the 4™ number.

W9 3 HEns w1 3a, Sl gem w5 e 2 9w

=N F1 3Ea 12 21 A4 9en 7| F5

48
(A) 16 (B) -
18
(© 20 I~

Correct Option : B
Explanation :



(B} Let the four numbers are a, b, c, d

atb+ctd
4

atb+c+d=48

12

Also, a+g+c =2d

atb+c=6d
natbt+tc+d=48

6d+d=48

Td=48

_ 48

d==

Question (169)

The distance between two pillers of length
25 m and 36 m is x m. If two angles of
elevation of their respective tops from the
bottom of the other are complementary to
each other, then the value of x ( in meters)
is:

25 Hi. 991 36 H. @4 2 @edi F 99 F g0 x Gl
21 9f% wF @ % vid = T AME F ag g6
% ¥l #1 TE ® AW | T4 F9 WO TF €,

@ @ % 49 gh 9@ w1
(A) 30 m/H. (B) 16 m/H.
(C) 15 m/™d D\ 9 m/#.

Correct Option : A
Explanation :



Ifg, +6,=90°

then x = ,||'hlhz (h = height of towers)
x= [25x36

x=30m

Question (170)

Each internal angle of regular polygon is two
times its external angle. Then the number
of sides of the polygon is:

et 9g =1 JiAfE F:0 I59F R FO F I
21 gy #1 g #1 Gem 9h w5

(A) 8 (B) 6

(€ 5 D) 7

Correct Option : B
Explanation :



|B} According to question
Given:
interior angle = 2 = exterior angle
As we know that
interior angle + exterior angle = 180"
2 ® exterior angle + exterior angle = 180°
3 exterior angle = 180°
exterior angle = 60°

360°

Mo. of sides = m

360"
=6
a0®

Mo. of sides =

Question (171)

The sum of two number is 37 and the difference of their squares is 185, then the difference of the
two numbers is:

T HEAT3T I AT 37 § R 3tk a1t a1 3R 185 §, dl TTATHT T 37 T 62
(A)4(B)5

(C)3(D) 10

Correct Option : B

Explanation :

(B) Given:
a+hb=37
a’-b*= 185
a’—b*=(a+b)la-hb)
185=37(a-h)
fa-b)=5

Question (172)



If(fa-b)=3,(b-c)=5and (c-a) =1, then
a® +b* +c® - 3abc

the will be:
a+b+c

% (a-b)=3,(b-c) =57 (c—a)=1 &, @

3 3 3
a’ +b”+c¢c -3abc _.

B
a+b+c
(A) 17.5 (B) 20.5
(C) 105 (D) 15.4
Correct Option : A
Explanation :
a* +b* +¢* - 3abe
(A) - a+hb+c

= % [[ﬂ—bf +(b-cf +|C—|‘I}2:|

1
= 53 +52+ 17

1
=§|:9+25+1]|

=17.5

Question (173)

Direction (73-75) : Read the graph and answer
the following questions.

oo (73-75) : et fau 7w s = srgdeE U i

I A
[l ncome/7 ™
[0 Expenditure/#a
60
50
3-*' 40
_EE 30
»

2012 2013 2014 2015

Years

2016

What is the difference in profit between 2013 and 2014 (in lakhs of rupees)?



gy 2013 AT 2014 & ST ST FT 3] (AT@T ) gm?
(A) No profit (B) 5
(C) 10 (D) 15

Correct Option : B

Explanation :

(B) Profit of 2013 = 50 - 30 = ¥ 20 lakh
Profit of 2014 =40-25=7% 15 lakh
Difference = ¥ 5 lakh

Question (174)

Direction (73-75) : Read the graph and answer
the following questions.

oo (73-75) : et faw U snerE =i STEgEE ug e

I AN

[l ncome/s™
[0 Expenditure/=a

2012 2013 2014 2015 2016

Years

The ratio of the average income of all the years to the average profit is:
Tt st & 3 3 1, 3 T8 A 37T S|

(A) 24 : 13

(B) 48 : 17

C12:7

(D)8:3

Correct Option : D
Explanation :



Average income of all year

_ 30+50+40+60+60
B 5

240
= ? = ¥ 48 lakhs

Average profit of all year
~ 10+20+15+20+25

5
So, ratinis48:18=8:3

= =18

o0
5

Question (175)

Direction (73-75) : Read the graph and answer
the following questions.

oo (73-75) : et fau 7w s = ErgEE U i
I A

[l ncome/7 ™
[J Expenditure/=3

2012 2013 2014 2015

Years

2016
The total income exceeds the total expenditure by:

a¥ 2012 & 2016 oo el 37T, Tl T Tohelol o1 3iTeIh §2
(A) 90 lakhs/eTEg

(B) 105 lakhs/ar@

(C) 115 lakhs/emg

(D) 120 lakhs/em@

Correct Option : A
Explanation :



(A) Total income from 2012 to 2016
=30+350+40+60+a0
= 240 lakhs
Total expenditure from 2012 to 2016
=20+30+25+40+ 35
= 150 lakhs
Difference = 240 — 150 = 90 lakhs

Question (176)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and blacken the oval corresponding to
the appropriate letter (A), (B), (C). If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

Reena is the woman who (A)/ | know (B)/ you can always rely upon. (C)/ No error (D)

Correct Option : A

Question (177)
It was with great difficulty (A)/ that each of the brothers (B)/ could get their share of property. (C)/ No

error (D)

Correct Option : C

Question (178)

She could not continue her study (A)/ because her means (B)/ were poor. (C)/ No error (D)

Correct Option : D



Question (179)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval in the Answer
Sheet.

In a survey conducted by a library, it was recently that parents wish their children to read
books with high moral content.

(A) revealed (B) concurred

(C) exposed (D) inferred

Correct Option : A

Question (180)

| forbid you there again.
(A) going (B) not to go
(C) to go (D) forego

Correct Option : C

Question (181)

RBI will impart no information anyone regarding demonetisation of Rs.500 and Rs.1000
notes.
(A) with (B) to

(C) for (D) from

Correct Option : B



Question (182)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

STRATAGEM
(A) Ruby (B) Trick
(C) Strait (D) Stratum

Correct Option : B

Question (183)

FORSAKE
(A) Forego (B) Disintegrate
(C) Separate (D) Abandon

Correct Option : D

Question (184)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

DREARY

(A) Dribble (B) Unusual

(C) Interesting (D) Solitary

Correct Option : C

Question (185)



KEEN
(A) Indifferent (B) Clever

(C) Immobile (D) Impassioned

Correct Option : A

Question (186)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Privilege (B) Priviledge
(C) Privalege (D) Privelege

Correct Option : A

Question (187)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences. Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

They have latched on to tourism as a way of boosting the local economy.
(A) promoted

(B) discovered

(C) exposed

(D) explored

Correct Option : A

Question (188)



Why do you fight shy of me?
(A) fight with (B) avoid

(C) embarrass (D) shout at

Correct Option : B

Question (189)

When he asked me the way to the cafeteria, | told him to follow his nose.
(A) to find it by himself

(B) to ask someone else

(C) to follow me

(D) to go straight ahead

Correct Option : D

Question (190)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicized in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

AIDS is spreading like wild fire.

(A) AIDS are spread like wild fire.

(B) AIDS is spreaded like wild fire.

(C) AIDS has been spread like wild fire.

(D) No improvement

Correct Option : D



Question (191)

I hope to talk him over to our view.
(A) I hope to talk him on to our view.
(B) I am hoping to talk him our view.
(C) 1 hope to talked him for our view.

(D) No improvement

Correct Option : D

Question (192)

Copernicus proved that Earth moves around the sun.
(A) Copernicus proves that Earth moves around the sun.
(B) Copernicus proved that the Earth moves round the sun.
(C) Copernicus proved the Earth moved around the sun.

(D) No improvement

Correct Option : B

Question (193)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

A small village or a group of houses

(A) Community (B) Settlement

(C) Hamlet (D) Colony

Correct Option : C



Question (194)

Underground place for storing wine or other provisions
(A) Garage (B) Cellar
(C) Attic (D) Hall

Correct Option : B

Question (195)

A list of explanations of rare, technical or obsolete words
(A) Dictionary (B) Glossary
(C) Lexicon (D) Catalogue

Correct Option : C

Question (196)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

Freedom has assuredly given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and all narrowness of outlook. Our freedom suggests toil and
creation of new values of old ones. We should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing that needs to be stressed more than any
other to the new set-up, it is that we should put into action our full capacity, each one of us in
productive effort - each one of us in his own sphere, however humble. Work, unceasing work, should
now be our watch-word. Work is wealth, and service is happiness. Nothing else is. The greatest
crime in India today is idleness. If we root out idleness, all our difficulties, including even conflicts,
will gradually disappear.

Nothing else can give us joy except
(A) idleness
(B) wealth



(C) freedom

(D) service

Correct Option : D

Question (197)

Freedom has assuredly given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and all narrowness of outlook. Our freedom suggests toil and
creation of new values of old ones. We should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing that needs to be stressed more than any
other to the new set-up, it is that we should put into action our full capacity, each one of us in
productive effort - each one of us in his own sphere, however humble. Work, unceasing work, should
now be our watch-word. Work is wealth, and service is happiness. Nothing else is. The greatest
crime in India today is idleness. If we root out idleness, all our difficulties, including even conflicts,
will gradually disappear.

Anyone can free himself from the clutches of difficulties, if he
(A) fulfils his responsibilities

(B) discards idleness

(C) discharges his obligations

(D) eliminates narrow outlook

Correct Option : B

Question (198)

Freedom has assuredly given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and all narrowness of outlook. Our freedom suggests toil and
creation of new values of old ones. We should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing that needs to be stressed more than any
other to the new set-up, it is that we should put into action our full capacity, each one of us in
productive effort - each one of us in his own sphere, however humble. Work, unceasing work, should
now be our watch-word. Work is wealth, and service is happiness. Nothing else is. The greatest
crime in India today is idleness. If we root out idleness, all our difficulties, including even conflicts,
will gradually disappear.

What has freedom undeniably offered to the citizens of India?



(A) New outlook
(B) New responsibilities
(C) New values

(D) New opportunities

Correct Option : D

Question (199)

Freedom has assuredly given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and all narrowness of outlook. Our freedom suggests toil and
creation of new values of old ones. We should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing that needs to be stressed more than any
other to the new set-up, it is that we should put into action our full capacity, each one of us in
productive effort - each one of us in his own sphere, however humble. Work, unceasing work, should
now be our watch-word. Work is wealth, and service is happiness. Nothing else is. The greatest
crime in India today is idleness. If we root out idleness, all our difficulties, including even conflicts,
will gradually disappear.

One thing needs to be stressed more than anything else in this new set-up. It is that people should
(A) discipline themselves suitably

(B) work to their full capacity

(C) substitute old values with new ones

(D) discard narrowness of outlook

Correct Option : B

Question (200)

Freedom has assuredly given us a new status and new opportunities. But it also implies that we
should discard selfishness, laziness and all narrowness of outlook. Our freedom suggests toil and
creation of new values of old ones. We should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing that needs to be stressed more than any
other to the new set-up, it is that we should put into action our full capacity, each one of us in
productive effort - each one of us in his own sphere, however humble. Work, unceasing work, should
now be our watch-word. Work is wealth, and service is happiness. Nothing else is. The greatest
crime in India today is idleness. If we root out idleness, all our difficulties, including even conflicts,
will gradually disappear.



___work should be the motto of our citizens.
(A) Incessant
(B) Productive
(D) Ingenious

(D) Resourceful

Correct Option : B



